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a i -
75 0f a sum of money is £2-70.
Find the sum of money.

By how many is 82 greater than 727
Yy

Share £6 equally among 8 children.
How much does each child recaive?

= mm mm
(18 +7) - {6 + &)
{4 x 1000) + (8 % 100) +
G x1n
£4-00 - £3-24 p
Write 4 1500 mfto the nearest # ¢
£132+6= p
\Afrita 4 A i
Write = as g decimal
1 a b o
3=77=78 @ 70 T3
120g+ g= %kg g
S3cm + 88cm cm
28 + 25 + = 74
5 articles cost £1-10.
1article costs  p o)

ANSWER

Multiply 4.2 by 10.
18 cmdivided by 10 =  cm. B cm
Write in 24-hour clock time _
(@)8.00am. ({®B00om. (@) {b)
10 + 2999
rom £4 take the total of £1-40
and £7-65. } P
3 batteries cost £2:25,
Find the cost of one battery. p
How many 50-cm lengths can be
cut from 18 m? B
What is the cost of 3 kg 100 g if
1 kg costs £17 £
\What is the difference in m? between
2£700 mfand 2580 mf7?

£

&g

s

If a man walks at a steady
speed of 6 km/h, how long
will it take him to walk

1o Derby?

DERBY
21 km

o

yx 10 = 320
What is the value of ?

Amy’s father gave her 28p to make
her money up to £3-15.

" How much ha,. Amy at first? £

N % Ahmed Inwhich direction must
*%%\ {a) Ahmed walk to
é- —%—— reach Hassan (a)
4 o e i
| % (b) Hassan walk to

reach Ahmed? ()

1 m of ri%}bon costs £3-20. Find the
C 1z

3
ha)

nis 1.2 mm thick. Find the
%. mnompiGO;

heigh
(@) 10 TWOS . (@) mm
(b) 100 TWOS {b) mm

sy

Which of these numbers can be
divided by 2, 3 and 5 without 2
remai rder

Megan received 3 TENS, a FIVE and

a TWO in change from £1.

How much had she spent? p
i 1 i i i i

A B

The line AB is drawn to scale and
: is a distance of 2.5 metres.
What length is represented by 1 cm? m

imo ine dzﬁ’emme betwee
z of £30 and gSfWEQ

[ a]

The mass of three parcels

is shown on the dial.

If they are of equal mass

write the massin g

of one parcel. g

A computer game can be bought for

£27 cash or by 20 weekly payments

each of £1-50. By how much is the

total of the weekly payments greater

than the cash price? £



